Unscramble the words!

TYTERP
DLFRYNIE

MODANSHE

NEEGSOUR
RELABSEMI
LUEREFCH

Match the opposites!

1 cheerful | C
2 tall

3 shy

4 old

9 worried
6 ugly

7 mean

— = a short

\ b young
\ _—— € miserable
\, S d relaxed
e handsome
f generous

g friendly

Choose the correct answer!
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It wasn’t/didn’t have sunny yesterday.

She was/had a party yesterday.

We was/were at the park at ten o’clock.

| wasn’t/didn’t have long hair when | was a baby.

| wasn’t/weren’t shy when | was/were young.

We didn’t have/weren’t lunch with Mum.

Peter ans Tim wasn’t/were friends when they were Kids.
Did you have/had breakfast this morning?



